>
A & 0l & AF 2 E A A
20209 = =0l4at LB Basisa
SN BYES
H: NI (DS/RULEZESUK)
el DEX (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Haists 2t 11,293,173 9,983,457 1,309,716
s 800,000
< 1,394,604
Al 9,098,569
DENI(RE/FROULETESLR) 7,978,658 7,675,798 302,860
< 1,355,604
Al 6,623,054
mE=PNE-| 7,978,658 7,675,798 302,860
< 1,355,604
Al 6,623,054
LAANHSTHE XIH 110,000 75,000 35,000
306 =93 110,000 75,000 35,000
01 &3 110,000 75,000 35,000
O Al Z ST et 110,000
dlelgstga 24 XN& 1,200,000 1,200,000 0
306 943 1,200,000 1,200,000 0
01 &3 1,200,000 1,200,000 0
Oflelgsts2 294l 1,200,000
stugaldl X 3,182,278 3,079,206 103,072
< 1,176,214
Al 2,006,064
308 XX EHH SOl 3,182,278 3,079,206 103,072
= 1,176,214
Al 2,006,064
08 WEII20HStE = 3,182,278 3,079,206 103,072
Ostn s A 2,744,500
< 1,176,214
Al 1,568,286
OXBY S4=42 AR 437,778
=344l X& 2,432,580 2,783,391 350,811
201 ¢er24l 5,940 2,940 3,000
01 At 22l 5,940 2,940 3,000
Oo2g+¢ 2,940
— e & 70,0003 21 +23| 2,940
Oger==EH| 3,000
— =722 Xd 88 % 80,000& 204 1,600
~EPHC U NAMEAN A
200& =7,0000H 1,400
308 MXIEHSOH 2,426,640 2,780,451 A 353,811
08 uFJ|20UetE=x 2,362,400 2,716,211 353,811
OusSZH(USXNAH, =51) 1,490,400
O AAHEX ZA2E 572,000




SN BYES
H: NI (DS/RULEZESUK)
el DEX (29l 8)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Od=wsi+ =4 300,000
10 SII 2SO CHEHE & X 2 & A I 64,240 64,240 0
OgdMunsa 249 64,240
MeXtdus X& 523,000 538,201 A 15,201
< 101,000
Al 422,000
307 gl2tol & 523,000 531,000 A 8,000
< 101,000
Al 422,000
11T ALS S RAEE = 523,000 531,000 A 8,000
Oglszsu=s=X3tE 202,000
< 101,000
Al 101,000
OXsgu= 321,000
ZEANZNSAAE 1,000 0 1,000
203 YR =& 1,000 0 1,000
03 Al =AY R =& 1,000 0 1,000
OfZu=sd A8 2= 1,000
n=E22H X 529,800 0 529,800
= 78,390
Al 451,410
307 gl2tol & 529,800 0 529,800
< 78,390
Al 451,410
11T M SXALSE EX 529,800 0 529,800
Oun=7YLlXA 261,300
< 78,390
Al 182,910
Ou=7X X & (XHA) 268,500
HMSSHM S (LS/8Y - JAWR) 453,335 369,815 83,520
< 24,000
Al 429,335
gMeEDIE = 453,335 369,815 83,520
< 24,000
Al 429,335
HMEEIIE 2= 207,295 157,295 50,000
< 24,000
Al 183,295
201 2et24d] 13,835 13,835 0
01 At 22l 13,835 13,835 0
O+t 13,835
—LAANYUHER2E BE2S MA 11,635
— Al st 2% ZEd| 2,200
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SN BySSE
HH: BMSSHN PE(DS/TM - NADK)
Sl WASEIIE 2E CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHM73 HEtel = asts s (2Y) 9,000
202 044l 2,000 2,000 0
01 = LH 4 1l 2,000 2,000 0
OBHMSISEAN =4 2= 2,000
301 EEd = 47,000 29,000 18,000
09 SALEHIX A S 2,000 0 2,000
OZdsts Msole 43t
20,0003 x20H «53| 2,000
12 JIEHE4 = 45,000 29,000 16,000
OAQl & Hysts 245 NJ ZHEZ A
o 29,000
OBty sotel X ALY
1691 S =+1,000,000& 16,000
307 21201 A 35,000 35,000 0
02 It S AIHE L 10,000 10,000 0
OdMNE E43 Z2Y Z2AMY 10,000
05 RIZteE = 25,000 25,000 0
OBdu=s Lie & 28 2F 25,000
TTCARSY (2L B /250 =) 2,228,047 1,373,651 854,396
s 800,000
= 15,000
Al 1,413,047
T Mztate 2,228,047 1,373,651 854,396
s 800,000
< 15,000
Al 1,413,047
SN2 AHE 602,468 608,648 26,180
101 14l 135,200 153,296 A 18,096
04 JI2ZtHZ22HEE = 135,200 153,296 A 18,096
OEAMZ =Xtztel & Alds 22 26,015
—Jlas 68,7202 250 1 17,180
- =x==Y 68,7203 x52=F+1YH 3,574
—Qx=g 68,7203 x 122 1 825
— 2HAlH| 3,0003 264 «1H 792
—52dZ2fE 103,0803 14«1 1,444
— &3z 2,200,000& =1 2,200
OEMa =& 2el 5,129
-2 68,720 x 15 x4 H 4,124
- =x=g 68,7203 x3F+4H 825
— ZHAY| 3,000& 15 x4 H 180
OEAM2 &ZEHI 78,041
—Jlas 68,7202 x2502 3 51,540
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SN BMESH
Hi: ZIZCMZ2S (2L 2Z/280=)
ool EAREL (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— st M2 ERFL 320,000& x12& 3,840
OAl&ZEHl s X bl 149,602
-2 A2 & FH |X2a 30,000
—SA2 AUHE ¥ 28 Rel& HEA 17,000
— SN2 tEEZ 20,000
— S M2 dMO|otA 2te| 825,000 128 9,900
— S A2 520122 198,000& 20 x12& 4,752
— SN2 AgorMAIZd 2] 262,500% <123 3,150
—SAZ HAAIAE 5 56,000
— Ol 2 TH (20 &) 2,500
— &) AEEH EA 6,300
206 M= Hl 2,500 2,500 0
01 =8l 2,500 2,500 0
OEM& g2 3= 2,300
Oxd=+ H& 200
401 AIEHIZ 28I 28,000 37,000 29,000
1T AIZHI 28,000 37,000 29,000
OHZAHA &Y A 15,000
OMNBEAHZ HAEZ 13,000
405 THabF S| 97,040 42,000 55,040
01 AL EFH S 97,040 42,000 55,040
OANEEZMZ S A22IMH WA 75,900
ORMAIOIE XESHAIAE 2 15,500
OANEE M2 cCTV(SH 2,800
OXAE Xt 220,000& 104 2,200
O&EDI 80,0003 =8H 640
A& g 2 189,000 198,000 29,000
< 7,000
182,000
402 RI2HXt20l ™ 30,000 27,000 3,000
01 212t 2 A E = (RERTH ) 30,000 27,000 3,000
Ox2ZTN2 2 3,000,000 *100H 2 30,000
403 UHXSHHSA=0l& 60,000 60,000 0
02 BII2SOUSHHE2RAE ALY 60,000 60,000 0
OZAE N2 Itz 2| 30,000
OotgE M2t =2l 30,000
405 TtobH SH| 99,000 111,000 A 12,000
< 7,000
92,000
02 =M=l 99,000 111,000 A 12,000
OYUAANE A2 &EX 80,000
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SN BMESH
Hi: ZIZCMZ2S (2L 2Z/280=)
Sl AR CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OENE=U TNE
110,000 » 3 43|30t S+ 128 15,840
OSEM2EHA ZAZ 2,000
OXESALA &=l 10,0003 x6H x5 10 3,000
Of==N3A THLESA 10,000& 200 2,000
SAERE 223 8,400 8,400 0
< 1,000
Al 7,400
201 L2l 2,000 2,000 0
< 1,000
Al 1,000
03 &Ar2 I 2,000 2,000 0
OSAEE R0l 2 (1,28HH) 2,000
< 1,000
Al 1,000
301 LeEAF 6,400 6,400 0
12 JIEtE &= 6,400 6,400 0
O=2AEE R22UE IME
100,000 =82 x8& 6,400
dHENZ e 7Y 45,035 45,035 0
< 7,000
Al 38,035
405 XHAHE S HI 45,035 45,035 0
< 7,000
Al 38,035
02 TN 45,035 45,035 0
OgHEMZ &N 35,000
— =2 ZUHEA 30,000
< 7,000
Al 23,000
—=UWH S0HEAN 5,000
OZHEZMN2 HEAM 10,035
— e DVD 15,000& »333& 4,995
—AE2=S 120,000& »42& 5,040
JHEAZ 2 228,348 231,208 A 2,860
101 @124 dl 36,100 30, 100 6,000
04 JIZtHZ2XEES 36,100 30,100 6,000
O UHUZAL 36,100
—Jl=s 2,300,000 x12& x1H 27,600
—JlEt=g(HII XY 22+
100,000 12 x1H 1,200
—JIEt=Z(Z=AHXKAHl) 400,0002«12& «1H 4,800
— &&= 2,500,000& »1H 2,500




AN Bysisa
Hi: ZIZCMZ2S (2L 2Z/280=)
CHel: S A 222 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 41,288 48,788 A7,500
01 At 22l 13,880 18,980 25,100
O e8| 13,880
—dUEMd HelE3 1,000
Fotdle #g 5,480
—RFID EHO 7 & 500& *4,000H 2,000
—ANREF 7Y 3,000
—SHRAMNM 23 1,000
—2A0ULA HE U2 1,400
02 23224l 19,200 19,200 0
OA& &8s Xl 19,200
—AREZIE S X4l 4,400
—HEss & A Es RANES 5,400
— Aot EEtE Dl & EHEX RAE 5,700
— EHO0X #XEx 1,700
—dUHENZ AIEE E= 2,000
03 A2 Z Hl 8,208 10,608 A 2,400
OSMEz & HA 2,000
O9%2 =AM = A 1,000
—SMHa g @A 1,000
Ods SEaA 2,400
— SAHI (A E) 400,000 x63] 2,400
Ogs A =Z M= 4l 800
OZo 58 Zdsl 500,000& *23| 1,000
O& st AAl 12&x14,000 *63 1,008
301 LA F 149,760 138,320 11,440
12 JIEtE 43 149,760 138,320 11,440
OLUHSHIZIY ZAIR(LHE)
70,000 «152 X x4==+102 42,000
OYOHSHIZIM AR (A0 Y)
80,000 «10& X +4==+102 32,000
OFZ S0 &0=F)] 2208
80,0003 52 +2H 8,320
OIHBE A== 70,0003 92 £H+9==+43] 22,680
Ogs S8 T8 80,0003 «x72 £t+43| 38 6,720
OO0ttt A2ECI8E 80,0003 *x8IH A x455= 28,800
OZUHENMZ RNJASAX 243 7,040
—AZd KOt Ha2l & et E ot
10,000 x2H x5 123 1,200
— LI 0D XE & W
10,0002 »2H x52F 1,040
—clEHO oM A
20,0003 x15H x8F %23 4,800




SN BySSE
i ARG (2L /250 =)
ool EAREL (el @2)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
O =AM & 2233 TAHAEEAH
10,000& x100H 1,000
OSAE AL &3A 1,200
—AREZz 0 I} 600
—SHIA= gEX 600
405 XHo&HF S HI 1,200 14,000 A 12,800
01 AL 2B F SHI 1,200 14,000 A 12,800
ORwotE Xt 150, 0002 *8IH 1,200
MYy R PN =yl 8,000 8,000 0
405 XtabF S| 8,000 8,000 0
02 = M7l 8,000 8,000 0
OgnN&E2ME T A 10,000& *800H 8,000
A2 29 30,956 15,380 15,576
201 Bt A | 15,256 6,380 8,876
01 At 22l Yl 1,896 1,500 396
Odet=gH| 1,896
- CNH2EE 500
—MEES 500
— RFIDEN 2 500& 1,000 500
— A%=DJ o222yl 33,000& x12& 396
02 3524t 3,360 2,880 480
Os32=2 ¢ MAl 3,360
— &I, S8z 200,000& x12& 2,400
—x10H gy gz 40,000& =20 x12& 960
03 A2 H 10,000 2,000 8,000
OF=g%! 1,000
OSg2HF 1,000
Olza 2323 8,000
207 Ao Y| 6,700 0 6,700
02 & AR EHH| 6,700 0 6,700
OEM&2IAIAE &X 4,000
OMzUXt T2 &AX 1,700
OXtgdM o 2olos T2 )8 &K 1,000
301 et X = 9,000 9,000 0
12 JIEtE &2 9,000 9,000 0
O M2 X3S ALK
10,000& *3¥ x5 x12& 1,800
OSHMSsZ20d 2AI=
60,0003 224 Xt +x6F 102 7,200
ANEENH2 222 1,000,000 0 1,000,000
as 800,000




SN BYES
Hi: ZIZCMZ2S (2L 2Z/280=)
CHel: S A 222 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 200,000
401 A& HIZ 201 I 1,000,000 0 1,000,000
s 800,000
Al 200,000
01 A& HI 985,000 0 985,000
OANE M2 22 &l 250,000
s 250,000
OANE A2 22 S Akl 735,000
s 535,000
Al 200,000
02 Zeltl 15,000 0 15,000
OANE M2 22 22l 15,000
s 15,000
HE2AZH (BMss2)(JIEH/IIE) 632,613 563,693 68,920
el 2l 519,529 496,691 22,838
ol 2l 519,529 496,691 22,838
101 1244 dl 519,529 496,691 22,838
01 2= 113,268 66,064 47,204
Oozxzuz=ex¢ 113,268
— 6= 11,6343 x55 A1 2+ x 128 3 23,036
—-7=2 10,509 *55A| 2+ x 123 «6H 41,616
— 8= 9,4343 «55A| 2t 128 6 H 37,359
— 9= 8,528 «55A| 2t x 128 x2H 11,257
03 RIAHAAZZRE > 406,261 430,627 A 24,366
OEAM2 AZ2d 2g22 406,261
—Jlas 2,270,950& 128 x11H 299,766
— &0z 21,340
Y E F Ot 970,000& *23] 11 21,340
—sa+d 23,445
- TRy 150,000& 12& x11H 19,800
AIENY 43,3903 x 123 +7H 3,645
—JIE=E 11,280
IrE=2 (R XR) 40,000 x 128 x5 2,400
IIE=g(EHl%) 20,0008 122 12X 2,880
ts< (2R H) 60,000 x12& x5 3,600
HESE(3NH) 100,000& = 12& »2H 2,400
—HEIZRsE 34,700
AZHIZ2 S 11,0002 12A1 2= 128 x11H 17,424
U222 (25Y)
110,000& »9 x6H 5,940
SA22+2(82Y)  110,000& «52L 5,720
o2 18,000& *26 Al 2tx12& 5,616
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